Tableaux des Puissances de Dix (I)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (I) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,001 0,0001 0,01 0,1
88 0,088 0,0088 0,88 8,8
4 0,004 0,0004 0,04 0,4
18 0,018 0,0018 0,18 1,8
47 0,047 0,0047 0,47 4,7
61 0,061 0,0061 0,61 6,1
X 0,001 0,01 0,1 0,0001
71 0,071 0,71 7,1 0,0071
41 0,041 0,41 4,1 0,0041
99 0,099 0,99 9,9 0,0099
22 0,022 0,22 2,2 0,0022
14 0,014 0,14 1,4 0,0014
X 0,01 0,1 0,0001 0,001
8 0,08 0,8 0,0008 0,008
44 0,44 4,4 0,0044 0,044
20 0,2 2 0,002 0,02
99 0,99 9,9 0,0099 0,099
62 0,62 6,2 0,0062 0,062
X 0,001 0,0001 0,1 0,01
94 0,094 0,0094 9,4 0,94
28 0,028 0,0028 2,8 0,28
24 0,024 0,0024 2,4 0,24
51 0,051 0,0051 51 0,51
39 0,039 0,0039 3,9 0,39
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